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SECTION A: The American West, c1835-c1895
Answer ALL questions in this section.

1 Explain two consequences of the Fort Laramie Treaty (1851).

Consequence 1:

[The live question paper will contain five more answer lines.]

(Total for Question 1 = 8 marks)
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-
2 Write a narrative account analysing the ways in which the cattle industry grew in the
years 1865-74.

( )
You may use the following in your answer:

« the Goodnight-Loving Trail (1866)
. the introduction of barbed wire (1874)

You must also use information of your own.

[The live question paper will contain one more page of answer lines.]

(Total for Question 2 = 8 marks)
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3 Explain two of the following:

« The importance of the opening of the First Transcontinental Railroad (1869) for
the settlement of the West.

(8)
- The importance of the winter of 1886-87 for the cattle industry.

(8)
« The importance of the Dawes Act (1887) for the way of life of the Plains Indians.

(8)

(Total for Question 3 = 16 marks)
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DO NOTWRITEIN THIS AREA DO -NOTWRITE IN THIS AREA

DO NOTWRITE IN THIS AREA

Indicate your FIRST choice on this page.
Indicate which part you are answering by marking a cross in the box [X. If you change your

mind, put a line through the box £ and then indicate your new answer with a cross [X.

[J  The importance of the opening of the First Transcontinental Railroad (1869) for
the settlement of the West.

O

The importance of the winter of 1886-87 for the cattle industry.

] The importance of the Dawes Act (1887) for the way of life of the Plains
Indians.

[The live question paper will contain one more page of answer lines.]
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Indicate your SECOND choice on this page.

Indicate which part you are answering by marking a cross in the box X. If you change your
mind, put a line through the box £ and then indicate your new answer with a cross [X.

[J  The importance of the opening of the First Transcontinental Railroad (1869) for
the settlement of the West.

[J  Theimportance of the winter of 1886-87 for the cattle industry.

] The importance of the Dawes Act (1887) for the way of life of the Plains
Indians.

[The live question paper will contain one more page of answer lines.]

(Total for Question 3 = 16 marks)

TOTAL FOR SECTION A =32 MARKS
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SECTION B: Tudor depth options

Answer EITHER Question 4 OR Question 5.

EITHER
Option B3: Henry VIII and his ministers, 1509-40

Question 4 Page XX

OR
Option B4: Early Elizabethan England 1558-88
Question 5 Page XX
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If you answer Question 4, put a cross in this box [].

[ Option B3: Henry VlIl and his ministers, 1509-40 ]

Answer Question 4(a), 4(b) and EITHER 4(c)(i) OR 4(c)(ii).

4 (a) Describe two features of the Amicable Grant (1525).
(4)

Feature 1

.
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-
(b) Explain why Anne Boleyn was executed in 1536.
(12)

4 )
You may use the following in your answer:
+ the succession
«  Thomas Cromwell
You must also use information of your own.

\ J

[The live question paper will contain one more page of answer lines.]

o
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Answer EITHER (c)(i) OR (c)(ii)
EITHER

(c) (i) "Wolsey’s failure to gain an annulment for Henry was the main reason why he
fell from power in 1529!

How far do you agree? Explain your answer.

You may use the following in your answer:

« relations with Pope Clement VIl
 the nobility

You must also use information of your own.

OR

(ii) “The main change for the English Church in the years 1534-40 was that it had
to accept King Henry as its head.

How far do you agree? Explain your answer.

You may use the following in your answer:

« the Act of Supremacy
. the dissolution of the monasteries

You must also use information of your own.
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Indicate which question you are answering by marking a cross in the box X. If you change your
mind, put a line through the box ¢ and then indicate your new question with a cross [X.

Chosen question: (o) [ (c)(ii) [

[The live question paper will contain three more pages of answer lines.]

(Total for Question 4 = 32 marks)
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If you answer Question 5, put a cross in this box[].

[ Option B4: Early Elizabethan England, 1558-88 ]

Answer Question 5(a), 5(b) and EITHER 5(c)(i) OR 5(c)(ii).

5 (a) Describe two features of the attempts to colonise Virginia in the 1580s.
(4)

Feature 1
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(b) Explain why the Throckmorton Plot (1583) was a threat to Queen Elizabeth.

(12)

( )
You may use the following in your answer:
«  Mary, Queen of Scots
. foreign threat
You must also use information of your own.

\_ J

[The live question paper will contain one more page of answer lines.]
L
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Answer EITHER (c)(i) OR (c](ii)
EITHER

(c) (i) ‘The threat of invasion was Elizabeth’s main problem when she became queen
in 1558!

How far do you agree? Explain your answer.

(16)

-
You may use the following in your answer:

« France
« Elizabeth’s legitimacy

You must also use information of your own.
\

OR
(i) ‘Religion was the main cause of the Revolt of the Northern Earls in 1569-70!

How far do you agree? Explain your answer.

(16)

-
You may use the following in your answer:

« Catholic grievances
« the Earls of Northumberland and Westmorland

You must also use information of your own.
-
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Indicate which question you are answering by marking a cross in the box X. If you change your
mind, put a line through the box ¢ and then indicate your new question with a cross [X.

Chosen question: (i) [ (c)ii) [

[The live question paper will contain three more pages of answer lines.]

(Total for Question 5 = 32 marks)

TOTAL FOR SECTION B =32 MARKS
TOTAL FOR PAPER = 64 MARKS
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